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T1 mérés: 3 4 5 6 7 8 9 10 11 P +/- + X % osztalyzat
NEPTUN-kéd zh Imn| jk | zh |mn| jk | zh [mn| jk | zh Imn| jk | zh [mn]| jk | zh [mn| jk | zh [mn| jk | zh [mn| jk | zh |mn| jk
1. |KCO5TF 10| 5116 25 | 4]16[24|5]19]123] 4] 20|24 5]20] 17 | 5|21 {20 5| 17 |1 23| 5]19] 17 | 5| 20| 394 0 0 394 [ 87,6% 5 (jeles)
1.|G1HVZ2 16 | 5/16| 16 | 4] 16|21 | 5]19]18 4| 2024|520 25| 5| 21|25 5| 17 |21 |5]19] 25 | 4| 19| 400 0 0 400 | 88,9% 5 (jeles)
2. |GNUIK9 atlag 121 5,18 22 | 5|18[14| 52019 5|]20|(25|5]20]| 12 | 5|21 |25| 5|21 |16 |5|18]| 23 |5 | 19| 388 0 0 388 | 86,2% 4 (jo)
mérés 3 5 23
potmérés 21 | 5 19
2. |AXZIBK 20 5118 25 | 5/120|21|5]20|25|5|20|25|5|20| 22| 5| 23|20 5 | 21 |23|5|18] 23 |5 ] 19| 428 0 0 428 | 95,1% 5 (jeles)
3. [WGZ0QH atlag 11 |1 414|112 | 4|18 20| 5|18 |17 | 5|20 22| 5|17]135|35|145[15| 4 |1185| 11 | 5|17 | 15 | 5| 20| 334 0 0 334 | 74,2% | 3 (k6zepes)
mérés 7 5] 12 5 4 | 14 8 4 | 19
potmérés | 15 | 3 | 16 22 | 3] 15| 22| 4| 18
3. [HOUCDzZ 12| 5112 24 | 4] 18|21 | 5|18 23| 5| 2022|517 ] 12 | 4| 14|20 4 | 19 | 23| 5|17 ] 16 | 5| 20| 370 0 0 370 |[82,2% 4 (j6)
3. [DQFJOV 10 | 5112 24 | 4] 1821|518 22| 5| 2024|517 23 | 4| 14|10 4| 19 |17 | 5]17] 15 | 5| 20| 363 0 0 363 [ 80,7% 4 (j6)
4. |M8ZA8G atlag 16| 31212 | 312|103 |14)10|5|14|21|5|15]135|35|115(12| 4| 19 |13 |3 ]10| 13 | 3| 12| 273 0 0 [ 272,5]|60,6% |2 (elégséges)
mérés 8 4 8
potmérés 19 | 3 | 15
4. |BWT7JX atlag 10| 312|115 3| 13|13 |3 |14|18|5|14|(15|5|15]|105| 4 |115( 17| 4 | 19 | 17 | 3 | 10|115| 4 | 12| 278 0 0 278 | 61,8% | 2 (elégséges)
mérés 4 3] 12 8 4 8 7 3|12
pétmérés 19 | 3| 14 13 | 4 | 15 16 | 5| 12
4. |R8X90R atlag 14 |1 3|12 18 | 3| 14|22 | 314|120 | 5| 14|16 | 5|15 17 | 4 |115( 25| 4 | 19 | 23 |3 |10| 14 | 3| 12| 324 0 0 [3235]|71,9%| 3 (kdzepes)
mérés 11 | 4 8
poétmérés 23 | 4 15
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NEPTUN-kéd zh |mn| jk zh |mn| jk zh mn| jk [ zh i/mn| jk | zh Imn| jk | zh [mn| jk | zh |mn]| jk [ zh |mn| jk | zh |mn| jk
1.]YIOLIB 23 | 5/15|1 25| 5] 17 [ 25| 5]18|25|5|19] 24 | 5]20|25|5] 18 [25|5] 18 [25|5 2025|517 [ 429 O 0 429 ]195,3%| 5 (jeles)
1.|JEXPPK 23 | 5/15| 22 | 5| 17|24 | 5|18 22| 5|19 22 | 5|20|22|5] 18|21 |5]| 18 (23 |5|20]|25|5|17| 411 | O 0 411 | 91,3%| 5 (jeles)
2.[IOTETZ atlag 2315|161 22| 4| 1512551722 | 5|16 15 | 5|20|24|5| 18| 25| 5| 2025|518 17| 5|18 388 | 0 0 | 387,5|86,1% 4 (jo)
mérés 0 5| 17
potmérés 25 | 5| 17
2.|G6M2EK 25 | 516|119 | 4| 15|25 | 5|17 23| 5|16 22 | 520|155 | 18 (25| 5| 2022|518 |17 | 5|18 395 O 0 395 [87,8%| 5 (jeles)
3.|AR1IWBX atlag 20| 5|10 |125| 4 |115( 21 | 4|15 23| 5|16 25 | 5|17|23 | 5| 10 |24 |5 |115(23|4|16|15| 5|18 354 | 0 0 | 353,5|78,6% 4 (jo)
mérés 8 3 8 25| 5 7
potmérés 17 | 5 15 23 | 5] 16
3.[G27Q2E atlag 18 | 5| 10| 11 | 4 |115| 20 | 4| 15| 18| 5|16 10 | 5|17|16| 5| 10| 20| 5|115| 24| 4|16|15|5|18| 319 | O 0 319 | 70,9% | 3 (kbzepes)
mérés 5 3 8 18 | 5 7
potmérés 17 | 5 15 22| 5] 16
4.|MDRAOB atlag 18 | 5| 20 |125| 5| 17| 23 | 5| 20| 15| 5|20 17 | 52018 | 5| 20| 13| 5| 20| 25| 52021 |5]20]| 38| 0 0 | 384,5 | 85,4% 4 (jo)
mérés 4 5 17
potmérés 21 | 5 17
4.|SYBOHS 25 15,1201 25 | 5] 17 [ 25 | 5]20(25|/5/20] 25 | 5]20]|24]5] 2025|520 ([25|5 /2025|520 446 0 0 446 199,1%| 5 (jeles)
5.[VXIOVU atlag 235/ 575|116 3 11|10 | 5|16|25|5|16| 20 |5|17| 24| 5| 17 |23 |5| 14|18 |5|15|20|5|17]353| 0 0 353 | 78,4% 4 (jo)
mérés 23 | 5 5
potmérés | 24 | 5| 10
5.|EHGU6Z atlag 24 |5|75]113 | 4| 14|13 |5|16(14 /516|116 | 5|17|15|5| 17|16 |5]| 14|20 |5 15|18 |5 |17 327 O 0 | 326,5|72,6% |3 (kbzepes)
mérés 25 | 5 5 7 3| 11
pétmérés | 23 | 5| 10 | 19 | 5 | 17
6.[|UYIP3X atlag 2515|9514 | 5| 1322 |5|15(19|5 17|21 | 5|19|25|5|15|25|5] 10(10|5|13]|]20| 5|15 353 | 0 0 | 352,5|78,3% 4 (jo)
mérés 25 | 5 9
potmérés | 25 | 5| 10
6.[YLBMLU atlag 22 15/95]1 20 | 5] 1324 |5]15(25|5|17]1 23 |5|19|23|5]15[(25|5] 10(22|5|13]|]20|5|15[(376 | 0 0 | 375,5 | 83,4% 4 (j6)
mérés 20 | 5 9
pétmérés | 24 | 5 | 10
7.|LBG32D atlag 21| 5|18 |95 |45|125( 20 | 51622 | 4|13 24 | 5|16|11|5|155[(25|5| 1515|517 |12 | 5|20 346 | 0 0 346 | 76,9% 4 (j6)
mérés 7 4 13 5|5 14
poétmérés 12 | 5 12 17 | 5| 17
7.|2Z2KCL atlag 18 | 5| 18| 23| 4| 13| 10 | 5|16 15| 4| 14|135| 5| 1865 3 8 |23| 511|112 51710 5]20] 307 | O 0 | 306,5 | 68,1% | 3 (kbzepes)
mérés 7 5/18] 0 | O 0
pétmérés 20 | 5] 18 [ 13| 5| 16
7.|DOWNAZ atlag 25|15, 18 |16 | 4| 13|21 |5|16(17| 4|14 16 |5|18|15| 5| 17 |25 |5| 11 (15|5 17|14 | 5|20 351 | O 0 351 | 78,0% 4 (j6)
mérés 55| 16
poétmérés 25| 5| 18
8.|YPVLP3 atlag 19 | 5| 19| 13 | 4 |135| 18 | 5|16 | 23| 5|16 20 | 5|17 24| 5| 14|19 |5 |17 | 24| 5|19|(25]5]19]| 38| 0 0 | 379,5 | 84,3% 4 (j6)
mérés 10 | 3 10
potmérés 16 | 5 17
8.|PIPGQT atlag 15 | 5| 19 |135| 4 |135| 20 | 5|16 | 21| 5|16 10 | 5|17 25| 5| 14|21 |5 |17 | 22| 5|19|25|5]19| 367 | 0O 0 367 |81,6% 4 (j6)
mérés 7 3| 10
poétmérés 20 | 5 17
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NEPTUN-kéd zh Imn| jk | zh [mn| jk | zh |mn| jk | zh [mn| jk [ zh [mn| jk | zh Imn| jk | zh Imn| jk | zh Imn| jk | zh |mn| jk
1. |C7B1AQ 19| 5/16(21 |5 16|19 |5 |18|21| 5|17 (13| 5|17 | 12 | 5| 16 (11| 5 |16]|20| 5175|145 ]12]338| 0] 0 338 | 75,1% 4 (j9)
1. |FNZMVE 18|/ 5/16[(20| 511619 | 5|18| 22| 5|17 |21 |5[17| 25 | 5| 16|24 5 |16|17 |5 /175[14|5|12| 368 | 0 [ O | 367,5|81,7% 4 (j6)
2. [TORQ7T 25517120 5 |16| 21| 5 /18|24 |5|15| 23| 5|13 25 |5|145| 21| 5|13 |23|5|18|23|5|16[38 [ 0] O 389 | 86,4% 4 (j9)
2. [GIK1AA 20/ 511719 5|16|10| 5 /1816 | 5]|15(17| 5|13 21 | 5]|145[19| 5 [13|19|5] 18 |19|5|16| 345| 0| 0 [ 344,5]76,6% 4 (j6)
2. [U20M9U 13/5/17(17| 5 ]116]|20| 5 |18|10|5|15(12| 5| 13| 10 | 5|145(15| 5 |13]|10|5| 18 |16 |5 ]16)|308| 0 | O [307,5]68,3%]3 (kdzepes)
3. [Y5VWQQ 18| 511724 | 5119|245 |16|23|5[18|22|5|18| 20 | 5| 18|24 |5 |17]|13|5|175|22]5]19|394| 0] 0 394 |87,6%]| 5 (jeles)
3. [DWOIGF 11 /51720 519|105 |16[14|5|18|19|5|18| 13 | 5| 18 (20| 5 |17]|14 |5 175|119 ]5]19|344| 0] 0 344 | 76,4% 4 (j9)
4. |BONVKL 18| 5115( 22 |45 15|24 |45/ 12| 23| 5|12 | 24| 5|18 |235|5|135[21|/45/10]|15|5| 15]23]5]13|39| 0] 0 359 | 79,8% 4 (j6)
4. |[ILQBXN 20| 5115|115 45| 15|24 |45/12 (22| 5]|12|22| 5|18 20 | 513521 |45/10| 21 |5 | 15|16 | 5| 13| 347 0 | O [ 346,5|77,0% 4 (j9)
4. |OAE3PZ 18|/ 511510451513 |45/ 12|18 | 5| 12|17 |5|18| 12 | 5| 14|21 |5 |14]|12| 5| 15|20 ] 5] 13| 312 |-20] 0 [ 2915]64,8%|3 (kbzepes)




